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Monthly averaged wind velocity by MF radar at Tromsoe for March 2008

North East

mean sigma = 21.333
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mean sigma = 19.373
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mean sigma = 20.571
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mean sigma = 19.848
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mean sigma = 17.779
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mean sigma = 17.599
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mean sigma = 18.390

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 20.483

0    4    8    12    16    20    0
-100

-50

0

50

100

82km



mean sigma = 17.974
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Monthly averaged wind velocity by MF radar at Tromsoe for March 2008

North East

mean sigma = 16.600
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mean sigma = 15.404
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mean sigma = 15.228
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mean sigma = 11.734
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mean sigma = 10.146
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